DNF#%-150155524E £ BY R £T

EmREHETERER

C Emii

0 g - A hER - FEESREZNREE -

DEEN : REQHESRBAFEEG > EREBRAFFERGE -

niiSEYE: IRAMSAZRHMY  ERIE150BEESRAEHETERIF (BEFEAARATEIE) -
NDLREEASE  SBRIEMEHESEE -

nNM#EA : REEELREE—ERAREY  cUBRREERI EOBMEMARBARINESUE -

C REE

g@em | 32 | 4 | s | 63 [ s [ 100 | 125

Eh{EREI T ) it

TIHENE =R

{EFRE D& E Kgf/cm? 1~9.0

RIS E Kgf/cm? 18.5

ERREEHE © -5~ 70

EREREEE mm/s 50 ~ 800

EERK AR EE

EETR mm 20 22 | 32 35

BEOL G1/8" G1/4" | G3/8" G1/2"

C TR

e P s

100 125 150 175 250 300 350 400 1000 2000

40 25 50 75 100 125 150 175 200 250 300 350 400 450 500 1200 2000
50 25 50 75 100 125 150 175 200 250 300 350 400 450 500 1200 2000
63 25 50 75 100 125 150 175 200 250 300 350 400 450 500 1500 2000
80 25 50 75 100 125 150 175 200 250 300 350 400 450 500 1500 2000
100 25 50 75 100 125 150 175 200 250 300 350 400 450 500 1500 2000
125 25 50 75 100 125 150 175 200 250 300 350 400 450 500 1500 2000

X BEIRITREFBAEEAR -



DNF%%-1s01555242 #E R R &I

P ER 5 1B E B ET BR FB I 45

) \_ \\Kﬁ%f . f///

C EHUHBBRMHR

Y Y S T ST N AT S

EE’I‘; itk 334 EE |ES
02 B EE B NBR 1 EEE NBR
03 & B MEMAEG R 12 IR #HE S
04 Bl Ui 2= ME® 13 & ) & POM
05 Ean| = i 14 B NBR
06 T RJORIE NBR 15 SEERNE Tk £
07 iREE NBR 16 BinE tHE®
08 BEREOTIE NBR 17 EIVE =L ik £
09 fNE] HE®
O FTIEMEITEA SR
-!F- q-xmp-qﬂq-mln
waEtg | | mg || 7R || mmEe | sk | 0 | BE®Z
{ l l l l l
32 -@32 mm @32 -25~500 mm L [#88 o
40 - 340 mm @40 -25~500 mm )l"
50 -@50 mm @50 -25~500 mm .a
63 - @63 mm @63 - 25~ 500 mm am 1]
80 -@80 mm @80 -25~500 mm E Cs-150 SD|2
DNF : 100 - @100mm @100 - 25 ~ 500 mm M“?@‘ RIERAIR:
125 - @125mm @125 - 25 ~ 500 mm ] [ maask (THIRAESR)
P : Mo
’-\' RFERSECER (CS-150)
G| 111 EBAES
2 : 2 {ERAERS

DNFD :
TRAERY T (WEhEY)

Y

2l




DNF%%-1s01555242 #E R R &I

ABBRERY

O DNF @32~92125 ( {ZE#8 )

A+ 1712
B C + 1772
E F G G X
U N
2-0 N
H
%jj f\/ an
a ) \J |a o \ [/ a
Q x a2 Q
2 S N |
K w
218
Q 2- IR R HA Q

C RI=X

mEesl a e | c o [ e | F o a0 |« ] L
32 120 26 94 30 30 18 25.1 22 17 M10 x 1.25 M6
40 135 30 105 35 32.5 21.5 29.6 24 17 M12 x 1.25 M6
50 143 37 106 40 41 28 29.6 32 23 M16 x 1.5 M8
63 158 37 121 45 40.5 28.5 35.6 32 23 M16 x 1.5 M8
80 174 46 128 45 51r3 34.7 3519 40 26 M20 x 1.5 M10
100 189 51 138 59! 52.8 38.2 38.8 40 26 M20 x 1.5 M10
125 225 65 160 60 73 46 45 54 41 M27 x 2 M12

EXNCEES U O O IR Y S O A T 2 T
32 9.5 12.6 G1/8 5.5 5.5 7.1 45 32.5 10 12 10 4
40 9.5 14.6 G1/4 6 7 7.5 54 38 10 16 13 4
50 9.5 14.6 G1/4 8.5 4.5 8.5 64 46.5 11.5 20 17 4
63 915 18.1 G3/8 10 2 12 78 56.5 {15 20 17 4
80 11.5 17.9 G3/8 12.7 8 93 72 15.7 25 22 4
100 11.5 19.8 G1/2 11.8 10 110 89 19.2 25 22 4
125 11.5 18 G1/2 8 14 13 134 110 20.5 32 27 6




DNF%%-150155524E £ BY R £T

ABBRERY

©C DNFD @32~0@125 ( \WWEHEY )

A+ 1772
B C + 17%2 B + 1772
F G G F
E
Ul N 20 N | U H
H
R -
Wam & . -
o st N > 7 o
; : “D - et
S N4 —
K W /
2[E1E
Q 2B EITH Q
C RYx*®
“ﬂ-ﬂﬂ_ﬂﬂ-“-
146 25.1 M10 x 1.25 M6
40 165 30 105 35 32.5 21.5 29.6 24 17 M12 x 1.25 M6
50 180 37 106 40 41 28 29.6 32 23 M16 x 1.5 M8
63 195 37 121 45 40.5 28.5 35.6 32 23 M16 x 1.5 M8
80 220 46 128 45 51.3 34.7 35.9 40 26 M20 x 1.5 M10
100 240 51 138 55 52.8 38.2 38.8 40 26 M20 x 1.5 M10
125 291 65 160 60 73 46 45 54 41 M27 x 2 M12
IS I R S N T N
12.6 G1/8 32.5 10
40 9.5 14.6 G1/4 6 7 7.5 54 38 10 16 13
50 9.5 14.6 G1/4 8.5 4.5 8.5 64 46.5 11.5 20 17
63 9.5 18.1 G3/8 10 2 12 75 56.5 15 20 17
80 1.5 17.9 G3/8 12.7 1 8 93 72 15.7 25 22
100 11.5 19.8 G1/2 11.8 4 10 110 89 19.2 25 22
125 11.5 18 G1/2 8 14 13 134 110 20.5 32 27




DNF%%-1s01555242 #E R R &I

Tt

C LB - fhiEEELR

XA+ AO
N
el 1o o N
A T
: O) 2
|
I e
NS N 4-@AB
c1 . TR,
‘ SA+ E
I
O RY%
f @ N@% A A0 | A0 o | E_ M SA | TR_| x|
32 7 32 6.5 30.5 45 5 142 32 144
40 10 36 9 S1 54 5 161 36 163
50 10 45 9.5 41.5 64 6 170 45 175
63 10 50 12.5 44.5 75 6 185 50 190
80 12 63 15 56 93 6 210 63 215
100 14.5 71 17.5 58.5 110 6 220 75 230
125 16.5 90 22 67 131 8 250 92 270
O FA ! FB - BB / HAMIE R
E2
] ] R
1= 4-gFB
i ﬁw Q Q @ | @
o | \//NU
| | L
Kj =
- B
- | & | @
w 1
ZF+
O RY%
EENNCE] NN DTN T R R T A N
32 50 7 10 32 64 80 16 130
40 59 9 10 36 72 90 20 145
50 65 9 12 45 90 110 25 155
63 75 9 12 50 100 125 25 170
80 100 12 16 63 126 154 30 190
100 120 14 16 79 150 186 85 205
125 140 16 20 90 180 220 45 245




DNF%%-1s01555242 #E R R &I

Tt

O CA - EEHEIREREE

MR

A
ylil

€
RiEs

@CD
L
& e
CB XD+
O CB - WEEEEE
O —+—0)
N\ & MR
E ) el O Ol P
\ / BYSIad i RINE:2%
7D N el 2D
| | @CD
§£é CB §Eé L
uB ‘ H2
E3 XD+
C RY%x
I N T T N AT
32 26 10 55) 22 13 10 45 142
40 28 12 63 25 16 12 52 160
50 32 12 71 27 16 12 60 170
63 40 16 83 32 21 16 70 190
80 50 16 103 36 22 16 90 210
100 60 20 127 41 27 20 110 230
125 70 25 148 50 30 25 130 275




DNF%%-1s01555242 #E R R &I

B R ASLE

C CS - 150(A) &5 BEEHB[/RBILER

C BIRRAUIESR

¢o
4

O RBILE C R~ E o se
B : mm
| mE . #@ | cs-150 | cs-150a CS - 150(A)
o4 753K b 55
BWER v| 5~120VDC/AC | 5~240V DC/AC
= AHREER mA 200mA MAX.
BEAE 10W MAX. © =
X FERE < 2ms (500Hz)
30
BEEERBISC B Y
1REEER IP-67 o ~
TS e < ‘f‘
TR 23 {55048 x2M " = _————
MBS B 3.0V MAX. 6.3 f ‘ 13 ‘ BREGE
BB AR 3 — R ‘
EELRE M IR il
HEHRE °C -10°~70°
58 g 25+2
AR AE—MRERE > SEEEMMAE -S -
C REREREEEE C —FEEE
DN REas EERNETZEEEES - 1. BREREREE  REEBB
10ARES » N E1E 58 i B 22 030 258 10M
M — BRI - B ARE RS r—*
CS - 150(A
* B TR AR L | \
2. B BBEBE L BRBERE s e ’
EETER = BIRZE
3. EEAER WA NS « FIA L. 470 pH ~ 2000 gH_
REEE -
C RESEK
B RSt S — AC Hi -
Eafmn ALK E N Eafms @ RC BIE -
OuT PUT
P.L.C [ |
= IN PUT | |
e LT
Ha +) o
i - o b + o
] i i o i
O g - J- @
R:2.7kQ C:0.1pf/600V




DNF%%-1s01555242 #E R R &I

R R ASLE

C CS - 150N(P) %35l RAEH/RBILEK

C B AERR
O MRt C RYHE I
Fe#R 7750 =88
BB % DC: 10 ~ 30V
BABEE R mA 100mA MAX.
RERE < 1ms (1000Hz) 2) T
BRI = pe AU ‘ 50 ‘
i S EE NPN. Current sinking ‘PNP. Current sourcing ' '
A B8 B JEE % 1.5V max. ®| ~
SHEEE R ON : 20 mA (24V) MAX. oY
RIS aw | = i = _———
EF R -10° ~ 70° 6.3 s ‘ BREMNE
REEFR IP-67
BIRAR @3 » 3 FASHRAR x 2M
g8 °G 50+2
R (R E B8 B
O RFESREREERE
B AIF2NiEHI 284248 E (NPN)
CS-150N CS-150N
OUT PUT
IR PL.C.
® + —INPUT
E Y out I *,b 321 L COM +24V
| ES m+
2 o {_ - [
| % [
ouT
NPN NPN
B AIFEsCinHI B8 iARE (PNP)
CS-150P CS-150P
OuT PUT
IR PL.C.
=L ° T _eur_
| = o w8 7 |
s, | N g ¢ 0
-1 B 2 [
ouT
PNP PNP




